- BN MEREXSIRAOBBF®RE] (2017 &)

N
[z A0t (1840)]
gz ATt (B4 10-195% | 20-295% | 30-395% | 40-494% | 50-595% | 60A% U £ 5
=58 149 717 490 261 124 180 1921
BHIE 24 163 99 60 32 29 407
&t BmUSL(20) (89) (61) (38) (14) (13) (235)
ZHEM|(4) (74) (38) (22) (18) (16) (172)
KERAF 2 58 43 22 10 15 150
HRER 1 32 25 9 12 7 86
Iz B2 18 7 26 17 9 4 8 71
FRZS) 1| 12 3 40 12 6 8 0 69
EER 2 22 15 6 4 5 54
REBAE 3 22 11 5 6 5 52
Frfif) 2 1 20 12 9 1 2 45
BEE 4 17 4 9 2 6 42
=RE 2 10 12 7 6 4 41
LR 3 13 9 1 0 11 37
FER 1 12 9 0 4 6 32
WER 3 6 14 4 3 2 32
& 2 9 4 5 2 7 29
paakiz I 2 6 3 3 2 2 18
JtimE 1 6 2 2 1 4 16
=Tt 0 6 4 1 0 2 13
BERER 3 4 1 4 0 1 13
RIFE 2 2 3 2 1 1 11
REAE 0 4 4 1 2 0 11
KRR 0 3 4 0 1 2 10
SEVIE 4 1 0 3 0 2 10
LAR 0 2 3 1 3 1 10
AR 0 4 3 2 0 0 9
Z Dty 3 50 18 23 12 8 114
= 222 1255 821 455 240 310 3303




(AT (RP)]

gz ATt (BMW) | 10-194% | 20-295% | 30-394% | 40-494% | 50-595% | 60K L

p=s] 51 230 146 79 40 47 593
FEH 14 100 79 44 17 31 285
mBMH 8 54 33 17 6 10 128
tnEE™ 8 45 35 20 8 3 119
AR AT 16 37 34 12 6 6 111
2] 10 31 25 10 8 13 97
TR ET 5 30 20 8 2 7 72
EET 5 26 14 6 2 8 61
AEHT 2 18 14 5 6 3 48
2ok 0 19 9 7 4 3 42
KA HT 4 18 8 4 1 5 40
FES 6 10 9 5 3 4 37
EPH 1 13 6 5 2 8 35
=4™ 1 14 7 6 0 5 33
Bl 0 11 15 1 3 2 32
EEZ™ 1 8 5 8 4 5 31
e diil) 6 5 10 4 2 2 29
REFFTH 1 6 4 5 4 3 23
R EET 1 12 3 1 0 6 23
FEHT 2 5 3 2 2 4 18
J1| 5T 1 5 5 2 0 1 14
fCEMT 2 5 3 2 1 1 14
T EFET 0 6 1 2 1 1 11
rilpdiing 1 3 1 3 1 1 10
Z Dt 3 6 1 3 1 1 15
&t 149 717 490 261 124 180 1921




(iniide (R40)]
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(iRt (RP)]

Bne (BA) | 10-195% | 20-294% | 30-395% | 40-495% | 50-594% | 60K L

=] 57 245 186 86 49 59 682
FREH 15 87 60 30 15 15 222
nEET™ 18 53 30 25 17 6 149
mBMH 10 62 44 17 5 3 141
BRAFNHET 3 39 40 14 5 9 110
% T 10 33 32 7 7 10 99
RE™ 7 20 19 6 2 3 57
FE™M 5 19 17 2 3 1 47
BiLm 1 11 7 16 4 2 41
K& ET 0 14 7 2 7 8 38
EEM 4 13 10 3 2 2 34
Zikm 1 10 9 3 2 5 30
REFFTH 2 10 3 11 4 0 30
T AT 0 13 8 2 1 2 26
=R 4 4 5 2 5 1 21
W~ 7 11 1 2 0 0 21
fedLET 2 5 2 2 4 2 17
E&Z™ 0 5 4 1 4 0 14
=) 2 2 8 2 0 0 14
7 EF BT 1 6 2 4 0 0 13
AT 0 4 4 0 3 1 12
KACET 0 4 2 1 1 3 11
Z Dt 3 7 6 4 1 2 23
&t 152 677 506 242 141 134 1852




% ST

iz ATt (R40)]

BmATT (B4N) | 10-194% | 20-294% | 30-397% | 40-497% | 50-594% |60 E

58 24 61 58 20 16 18 197
B2 8 7 3 0 23
KERAF 7 6 1 0 14
Z Dt 15 14 2 6 45
&t 31 91 85 26 22 24 279
(i Aot (BEA)]

AT (BA) | 10-195% | 20-29%% | 30-397#% | 40-49#% | 50-594% | 60m% LA £

N 10 33 32 7 7 10 99
RE® 0 4 1 1 18
A& H] 7 3 0 1 17
p=<dis] 1 1 1 2 11
i) 0 0 1 2 8
Z Dt 6 14 11 5 6 2 44
&t 24 61 58 20 16 18 197
(dnibise (140)]

BnHse (B4h) | 10-194% | 20-297% | 30-394% | 40-497% | 50-597% |60 L

—ER 15 76 53 44 15 24 227
B2 6 17 7 3 1 4 38
K BR AT 2 4 6 2 3 21
HRER 2 3 2 1 1 15
IR 1 3 1 0 0 10
Z Dt 2 23 5 4 1 2 37
&t 28 131 75 60 20 34 348
(dibise (BRA)]

Brde (BA) | 10-194% | 20-294% | 30-397% | 40-497% | 50-594% | 60m M £

Nl 10 31 25 10 8 13 97
=005 2 19 9 2 1 2 35
=G 0 1 2 26 3 0 32
GiEin 1 5 7 1 1 1 16
Z Dt 2 20 10 5 2 8 47
&t 15 76 53 44 15 24 227




REH

iz ATt (R40)]

AT (B4h) | 10-195% | 20-293% | 30-393% | 40-494% | 50-59% | 60K A k=

=B8R 5 45 28 10 17 25 130
RERAF 1 1 0 1 6 13
FRE 0 1 0 4 10
o)) 0 3 10 1 2 23
B 6 60 33 21 19 37 176
(imATT (R P)]

gATT (BA) | 10-195% | 20-297% | 30-39m% | 40-495% | 50-595% |60

NG 0 14 7 2 7 8 38
MEM™ 1 2 0 2 7 13
2 1 1 1 3 1 11
FRAN AT 0 3 0 0 1 8
Z D 3 22 15 7 5 8 60
&t 5 45 28 10 17 25 130
iztide (R40)]

gxtisc (B4L) | 10-195% | 20-297% | 30-39m% | 40-495% | 50-595% |60 |k

=88 18 58 26 16 14 12 144
FHE 4 12 2 0 0 23
R 1 2 1 0 10
I B2 IR 1 5 1 0 9
2% 7 12 5 8 4 42
=t 31 90 40 26 18 23 228
(imiise (R P)]

% (BA) | 10-195% | 20-295% | 30-397% | 40-497% | 50-597% | 60 A L

N 2 18 14 5 6 3 48
=115} 1 11 3 3 5 4 27
% SHT 7 3 3 0 1 17
FHEH 3 1 3 0 2 13
ok 5 22 5 2 3 2 39
&t 18 58 26 16 14 12 144




BHANHET

iz ATt (R40)]

AT (8B40 | 10-19%% | 20-29%% | 30-394% | 40-494% | 50-59%% | 60 L

B8 18 164 137 41 30 51 441
FAIR 2 18 7 6 1 37
PN 0 8 6 1 0 18
Z Dt 2 28 22 6 63
£t 22 218 172 54 34 59 559
(i Aot (BEA)]

AT (BF) | 10-19%% | 20-29%% | 30-39%% | 40-49%% | 50-59%% | 60%% A £

FEH 10 57 51 11 14 22 165
BRI 3 39 40 14 5 9 110
==l 1 20 11 2 1 6 41
EEE 1 5 4 4 3 3 20
MATHH 1 9 5 2 1 0 18
$HEm 0 6 4 0 0 1 11
B¥H 0 3 1 2 0 4 10
2L 0 1 6 0 0 2 9
Z Dt 2 24 15 6 6 4 57
£t 18 164 137 41 30 51 441
(dnibise (140)]

s (B4 | 10-19%% | 20-29%% | 30-39%% | 40-49%% | 50-59%% | 60U £

=858 24 151 109 36 20 31 371
TS 6 26 11 2 2 0 47
FENIE 3 6 3 1 0 0 13
HREB 0 18 1 4 0 2 25
KBR AT 0 9 5 1 2 1 18
Z 0t 4 31 13 8 0 2 58
=t 37 241 142 52 24 36 532
(dzihise (BRR)]

nHise (BA) | 10-19%% | 20-29%% | 30-39%% | 40-49%% | 50-59%% | 607k L

NG 16 37 34 12 6 6 111
FETH 4 43 30 13 5 12 107
=4l 0 20 15 3 4 8 50
METH 1 8 3 1 0 0 13
$nEE™ 0 4 6 0 0 1 11
EEH 0 4 3 1 1 1 10
SPH 0 5 3 0 0 1 9
KEHE] 0 4 3 0 0 1 8
Z Dt 3 26 12 6 4 1 52
&t 24 151 109 36 20 31 371




